
~i

~j

Cf

y=bb

~i

~j

Cf

x
=
a

a

Asymptote horizontale Asymptote verticale
lim

x7→+∞
f(x) = b lim

x 7→a
x<a

f(x) = +∞

~i

~j

Cf

y=bb

~i

~j

Cf

x
=
a

a

Asymptote horizontale Asymptote verticale
lim

x7→+∞
f(x) = b lim

x 7→a
x<a

f(x) = +∞

~i

~j

Cf

y=bb

~i

~j

Cf

x
=
a

a

Asymptote horizontale Asymptote verticale
lim

x 7→+∞
f(x) = b lim

x 7→a
x<a

f(x) = +∞

~i

~j

Cf

y=bb

~i

~j

Cf

x
=
a

a

Asymptote horizontale Asymptote verticale
lim

x 7→+∞
f(x) = b lim

x 7→a
x<a

f(x) = +∞

http://chingatome.net

http://creativecommons.org/licenses/by-nc/4.0/

